Haloalkanes and Haloarenes

Que 1: Which compound in each of the following pairs is more reactive in S,2 reaction
with OH?

(i) CH:Br or CHGl (ii) (CH,)sCCl or CH,CI Marks :(2)

Ans: (i) CHl

(ii) CH.CI

Que 2: Predict all the alkenes that would be formed by dehydrohalogenation of the
following halides with sodium ethoxide in ethanol and identify the major alkene:

(i) 1-Bromo-1-methylcyclohexane

(if) 2-Chloro-2-methylbutane

(iii) 2,2,3-Trimethyl-3-bromopentane. Marks :(3)
Ans: (i)
alcoholic
CHSCHZDNa
- HCI
1-Bromo-1-methyicyclohexane Methylidinecyclohexane 1-methyicyclohex-1-ene
{minor product) (major product)
(ii)
o
CH3CH,Na
CH;-C-CH,-CH; ——2— }\/ /K/
| CH;CH,0H
Cl -H cl minor product major product

(i)

N CH4CH,Na N N
—= 2" N +
B/r><i\” CH,CH,OH RN /\(\
f “HBr

major product minor product



